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Application of a Markov chain Model on the popular 
transformation between the cities of (Nineva, Saladean, 

Tameem) for the period  1977-1997 
ABSTRACT 

In this paper we study the migration of population among 
the three Iraqi cities: Nineva , Saladean, Tameem by considering 
these this migrations as a Markov chain with three states which 
represent the transitions among  these cities .We obtain a 
transition matrix (3x3) to represent these states and we obtain 
that this chain is Ergodic and we find the mean and the variance 
of the waiting time ,the time between consecutive transition and 
the duration of an excursion  at each state. 
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*��%��� ����� � $#��%��� &��'�� $���� ": A�B� C���� C��#
% C��'�� 0����: *�! 

"�%��� DE�1� $���� *! �+� "� F� ��� $#����� GG�� H���
 /I)���� ;��
�
 &��� �� J)'� *K�#�)$������ (�������
 $#��%��� ��B
���� ���#: *! �
%� $#��� F�

��� ;��
% $	���� L#����&�#� 5�Life tables  ;�1�M� A�%���� ��'��� 5
9 "� 
 �4[1].*��#
G�� ������ 5����� ���4����� ��#!��� 5��� ��
+ N���!�
 �
������L"�%��� ���� ��B
���� 7�� N��	�� 8�� �!�.�)�� *�! ������� �%���

*�� $�
�+ ��K���!� 7�� ��%��� I)��� �!� $������ $��#1 7�� (�
��:
4�� :���#�2���� "#��� 0,1� .��#� $+,+�� �� !����� "#
 5�6��4� *! $#�� 8�� 
�#��+ :���6� ��#!���� ���4��� ��
��� C��
�+C�

��K���!4� J)� �!� "�%��� ��� *! &��#��� L����� ��� 
…….(1) Kt+1 = ( αI +P)Kt

(#� "�
Kt:� ���*����� "�%�� 
α:��#!��� ��� F�� 0��G� ���4��� ��� 
I:$#���� $!�	1� 
P:$+,+�� �� !����� "#
 5�6��4� $!�	1� 

$���� "� 5�6��� $!�	1� 7�� ���1� 8�)
� (3x3) $+,+�� �4���� 5#+��� /�9�
*� $������ J)� "� ��#
Ergodic� ��4� "�� ������ �Waiting time 5�%� 
��
��� �� 5�6��4�� $���(Up crossing and down crossing ) 7�: $��� "� 

;�6
�� &��!� .���)(�%��� ($6G�� 5% *!)$��� (Duration of excursion in 
each state ���#
���� 8�� O#��� "#�
���� 5����� ���#: ��� .
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0����� 1�
���:
�*�
�2 ���
3� ��
1P��%��� $����)Markov Chain(:]5[

$#!��1��� ��#����� "� $1�� $��� *� Stochastic Processes  *����� 
$#!��1��� $#����� "� 5�6#� �4���� "� ������� ����� ��) ��%��� $#���
 5+���

{Xt;t=0,1,2,….} O�#��� ��%���� $#�1�� �6�� OG6���� "���� $��� *! 
�4����i1,i2,……..,in"�% �): �#6�� O#���� 

P(Xn=in|X1= i1 ,X2=i2 , ..., Xn-1= in-1)=P(Xn =in |Xn-1= in-1) (2) 
)�"�P"�� $#�����4� *� Xn = in$+����� 5+�� Xn$����� *! in7G�� X1

$����� *! i1�)%��."����� $���� *�! ��%��� $#1�� ���� $6#�G�� �	�
�
� ������� O�G6���� "����� $��� *! $������ 7�� �������� �%��#�(Discrete 

time)  
2P$#���6��4� :)Stationary(:]5[

"�%� OG6���� "���� $��� *! ��%��� $������ 5����� "�% �): &�6���� $�
�+ 
C,6��� .��� 7�: $��� "� 5�6��4� 5�%�� �+��� *���� &�G��� *! "���� "� 

��4��� /�"� A
P(Xn = j | Xn-1= i) = P(Xn+k = j |Xn+k-1= i) ………. (3) 

k=-(n-1),-(n-2),…… ,-1,0,1,2,…… 
3P�6����� O#����� ::)Stationary distribution (

G�6! ��'#!� $�#��� �#�� $E����� $�
�9 �#� ��%��� $������ ���% �): 
&������ �4����Recurrent - states*� O#����� $#�� ���%� :

πj= lim Pij
(n) >0            …..    (4)                                  

 n→∞
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)E���πj ; j= 0,1,2,…….. �#��� �6��� O#��� �� "� )� 
∞

πj = ∑πi Pij ; j= 0,1,2,………        (5) 
 

i=0 

 ∞
"��πj>0 �#9 5%� j���6�� *�∑πj = 1 �4 ][7�Pij 5�6��� $#������ �� 

$����� "� $#�����i$����� 7�: jj=0 

4P5�6��4� 5����� $!�	1�)ility MatrixThe Transitions probab(:
L��%�� G���Q� 5�6��� 5����� "� &��
� �'#! �1�� 5% $!�	1� *�� 

� $!�	1��� 5%Q 7�P=( Pij )  �Pij $�#����� 5�6��� $#������ 5+�# �1�� �� 
$����� 7�: j$����� *! �'�� ���� i*����� $
������ ��������� 5% 7�� A����� 

 ��4 $������� 5+�� *��� �4���� "#
 $#����� $%�� D��][7"��%� (�#�
 � 5�6��4� �4����� 5+�� $
��� �1���
 $�
�� $!�	1� ������ $!�	1��� $���

 ���� A���# �1 5%� �4����4� R���� "�� �4���� ��� 7�� /J)�� 7����
 
 $!�	1������): $E����� $�
�9 �#� $!�	1� "%# �� $#E�� $!�	1� ���#: "�%�>�


 $6�
��� $������� ����� �'��C$�#��� ;�K! "� $#E�� $����� �'�2
 S"�% �): 
� "� 5�6��4� 5����� $����i$����� 7�: k��	1 A���# )Pik= 0(5%�Pij 

∈C�Ck∉ �4 6][.
5P$#����� $������)Periodic Chain(:

"%�� Pij "�� ��%��� $������� 5�6��4� $!�	1� i�jJ)�� �4�� 
$������ .$����� "�%�j�: &����� "�%�>�
 "�% �): $#��� $����� 7j$#��� ����	
� 

…..,3t,2t,t  ": *��# �)�� Pij
(n) >0 "�� n7�� $��6�� 5
�9 �#� S#�1 ��� 

t.���% �):�t=1  �4 $#��� �#� $������ "�%�! ]3[.



]84[ �����������������2005)8(����א�
�א������
��מ�א�������א��

6P$#E��
�� $!�	1���)Primitive matrix(:]7[
$!�	1��� 7��� Pij�� ����� �): $#E��
�� $!�	1���
 $�#��) $��#9 7)Eigen 

value  (λ=1 
"��  λ i< λ1�#9 O#��� i= ,2,3,…. .5�� ������� $#��)�� �#6�� ���#>�

 *�T� �� ��� = 0P - λI"� )� P� 5�6��4� $!�	1� I$!�	1� 
� $#����λ$#��)�� �#6�� *� .

7P&������ $�����)Recurrent State(:]5[
$����� "�%� i)State i($����� "� 5�6��4� "�% �): &����i&������ 

$����� �	� 7�: i"�% �): &���� �#� "�%�� ���� J���6� 5�����
 Pii<1  �4 ]5[

8P$�
�+�� $������)Ergodic chain(:]5[
�� $��� "� ��%�� �'
 5�6��4� "�%# *��� $#����� *� 4� .���� 7�: &��

 &������ &���G� *��! "���%# "� 5���6��4� �)��'� �#�����K "���%# ."� A�
 
lim Pij

(n) = π …………. (6) 
 n→∞ 

(#� "�n"�� &�G��� 5+�� Pij 5�%� &����� $#�
�� "�%�� 5�6��� $!�	1� 
�#9j"� $�6����� i"�� 

……………. (7) 
�����:

$#E��
 ��%��� $������ ���% �): )Primitive ("��! $E����� $�
�9 �#��
�
�+ "�%� $�������� $Ergodic  �4 ]3[.

∑∞
=

=π
Uj

i 1
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LP$������ 5#��� :
"%�� {Xt}"�%��� ���� $#����� $������ 5+�� ."%���L1����� 5�+�� 

� "#��� 0,1� .��#� $ !��� "#
 51�	��L2� "#��� 0,1 "#
 51�	�� ���� 
�#�2��� .$�+�� ������ *! �G��� (,+ ��#�� "�%� 8�)
� *�T� 5%Q��
 

.��#� 
L1 0,��1"#��� 
L2 �#�2��� 

)� $��� $6G�� 5% 5+�� )State (*��� $�������� 5+�� �4�� (,+ ��#�� S
1� A�
 (������ 5
�6�:

E1 = { Xt : Xt > L1 }

E2 = { Xt :L2<Xt < L1 }

E3 = { Xt : Xt <L2 }
�A"�St�%� �4���� 5+�� *��� 5%Q��
 "*�4� :

 1 : Xt∈ E1St =  2 : Xt∈ E2 3 : Xt∈ E3 *�T� 5%Q��
 $!��� 5�6��4� $!�	1� "�%� 8�)� :
1 2 3

1  1-a1-a2 a1 a2 
P = 2 | b1 1-b1-b2 b2 

3  c1 c2 1-c1-c2 
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$+,+�� �G����� "#
 $#��%��� $%���� 5+�� *��� /G���Q �6��  �,� (#�
)��	1 (�G����� "#
 5�6��,� $#��%��� $%���� 5+�� *��� $!�	1��� 7�� ��%���

���� *�T� GG����
 �'�#+�� "%�# *��� $	��:

1-a1-a2
1-b1-b2

a1

b1

c1 a2
c2

b2

1-c1-c2

$!�	1��� "��P$6�
� 5�6��4� $!�	1� "� ��� )$�#E�� �������� ���� 4 A�
 $������� .�� $6�
�{1,2,3} ("� A�P5%Q�� "� $#��� �#�� $E����� $�
�9 �#� )�

"� t,2t,3t,……,nt =Pii
(n) "�� t=1 �n&�G��� 5+�� .

�+ $������ ���% �): ��#! ��
��4� $�
Ergodic )$��
�+ 5��6��4� $!�	�1� "��%�
Ergodic $#E��
 ���% �): Primitive$E����� $�
�9 �#�� Irreducible  �4 ]3[(.

���	

��
�����

�	�����
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$#��)�� �#6�� ���#: ��#�� �#����� �������
 � $#E��
 $�������� "� "#
�� λi,i=1,2,3 
�#6�� J)� .��: "� ��
+������� A���C��� $#6
� �6�� $#��)�� �#6λ i< λ1i=2,3 

 �� ��� 5� O
�� $#��)�� �#6�� ���#>=0 P - λI) �43(�� ��� 5�
� ��%)���
�6
�� "� ��� 

λ3+A1 λ2+A2 λ+A3=0           ……..(8) 
"� )� 

A1=(a1+a2+b1+b2+c1+c2)-3 
A2=3-2(a1+a2+b1+b2+c1+c2)

+(c1a1+c1b1+c1b2+c2a1+c2a2+c2b1+a1b2+a2b1+a2b2)
A3=(a1+a2+b1+b2+c1+c2)-

(1+a1b2+a2b1+a2b2+c1b1+c1b2+c1a1+c2b1+c2a1+c2a2)

"� ��� �4������ J)� 5�
�:
λ1 = 1
λ2 = 0.5[-B1+(B1

2-4B2)1/2] ……. (9) 
λ3 = 0.5[-B1+(B1

2-4B2)1/2]
"� )� 

B1 =1+A1
B2 =1+A1+A2

#6�� J)� "�� �λi,i=1,2,3 "� ����  λi < λ1i =2,3  , "� A� P
$#E��
 $!�	1� *�(Primitive) ��#�� ��
1� F#��� P$�E����� $��
�9 ��#� 
"�%� 8�)� $#E��
� P$�
�+ (Ergodic)  .    
�6����� O#����� )π(:
"� ��
 P*�Ergodic # F��!  �4 �#��� �6��� O#��� ���]3[���#>� 

*�T� �� ��� 5� O
�� O#����� �)�:
π P= π ………… (10)
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(#� πi = Pr (Xt = i )
�� ��� 5�
� )10(7�� 51�� 

d1π1 = ———— ………(11a)  d1+d2+1       
 d2π2 = ———— ……… (11b)  d1+d2+1 
 1π3 = ———— ………. (11c)  d1+d2+1 

(#� 
b1c2+b1c1+b2c1d1 = ————————a1b2+a2b1+a2b2

a1c1+a1c2+a2c2d2 = ————————  b1a2+b2a1+b2a2

$��� 5% *! ;�6
�� &��!) :D(The duration of an excursion 
$��� 5% *! $������ (�%� &��	� *�����4� O#����� ":)$6G�� (5%Q��
 ����*�4� :

Pr(Di =k) = Pr (Jj = i , 1 ≤ j ≤ k , Jk+1 ≠ i |J0 ≠ i, J1 = i ) …. (12) 
 

�4���� "� 5%� �#����� �)� �#
G�
� )�G����� (C�	�� ��%)���# �� 7�� ���1� ��*:

� $����� 7��X).��#� (:
Pr(D1=k)=(a1+a2)(1-a1-a2)k-1k=1,2,…..;a1,a2<1; a1+a2<1    ….(13a) 
 

$#��+�� $�����)"#��� 0,1(:
Pr(D2=k)=(b1+b2)(1-b1-b2)k-1k=1,2,..; b1 ,b2<1; b1+b2<1     ….(13b) 

∑∞
=

=π
1i

i 1

∞→tlim



��������������� ������ �������	
��	��

 ������
 ...  ]89[

$+��+�� $�����)�#�2��� (:
Pr(D3=k)=(c1+c2)(1-c1-c2)k-1 k=1,2,…..;c1,c2<1;c1+c2<1 …..(13c) 
 

*�T�% �� ;�6
�� &��	� "#�
���� 5����� "��:
1 1-a1-a2E ( D1 ) = ————                        V ( D1 ) = ———— (14a)  a1+a2 (a1+a2)2

1 1-b1-b2E ( D2 ) = ————                       V ( D2 ) = ———— (14b)  b1+b2 (b1+b2)2

1-c1-c2E ( D3 ) = ————                        V ( D3 ) = ———— (14c)  c1+c2 (c1+c2)2

"#
9���� "#��6��� "#
 "���� :( Time between two consecutive crossing )  
$+����� (���� $#����� &��	�� ����� )&��'�� (�����
 �����%�� Ti)�"�i = 1,2,3 

���
 ���# ��
��� "��� *�����4� O#����� "�� $+,+�� �G����� 5+��� *���#������
)i=1( �4]2[

kPr(T1=k)=∑Pr(Xi< L1 for i< j;L1≤ Xt for j≤ t ≤k;Xk+1< L1|X0≥ L1,j=2 
X1 < L1) ……………..(15) 

k=2,3,…       ……………. (16a) 
����� 8�)%� i=2     







+−−






π−
π−+π−

π+π−+π−
π+π+

== −
−

1k21
1k

1
3121

3121211
312121

1 ))aa(1(1
)c1()b1(

)cb()aa)(1(
)cb)(aa()kTPr(







+−−






π−
π−+π−

π+π−+π−
π+π+

== −
−

1k21
1k

2
3211

3211212
321121

2 ))bb(1(1
)c1()a1(

)ca()bb)(1(
)ca)(bb()kTPr(
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k=2,3,…       ……………. (16b)  

������ i= 3

k=2,3,…       ……………. (16c)  
$��� 5%� "#�
���� $�9����� $�#6�� ����� �9� 

(1- π1) (a1+a2) + (b1 π2 + c1 π3)E (T1) = —————————————                 ……….(17a) 
 (a1+a2) (b1 π2 + c1 π3)

(1- π2) (b1+b2) + (a1 π1 + c2 π3)E (T2) = —————————————                 ………(17b) 
 (b1+b2) (a1 π1 + c2 π3)

(1- π3) (c1+c2) + (a2 π1 + b2 π2)E (T3) = —————————————                 ……….  (17c)   
 (c1+c2) (a2 π1 + b2 π2)

α1 β1 γ1V (T1 ) = ——— ,V (T1 ) =———  ,V (T1 ) = ——— … (17d)  α2 β2 γ2

(#�"�
α1 = (1- π1)3 (a1+a2)3 - (1- π1)2 (a1+a2)2 (b1 π2 + c1 π3) (a1+a2+1)  
 - (b1 π2 + c1 π3)3 + (a1+a2) (b1 π2 + c1 π3)3 + (1- π1) (a1+a2) (b1π2 + c1 π3)2

α2 = [(1- π1)(a1+a2) - (b1 π2 + c1 π3)] [(a1+a2)2 (b1 π2 + c1 π3)2]
β1 = (1- π2)3 (b1+b2)3- (1- π2)2 (b1+b2)2(a1 π1 + c2 π3) (b1+b2+1) 
 -(a1 π1 + c2 π3)3+ (b1+b2) (a1 π1 + c2 π3)3+(1- π2) (b1+b2)(a1 π1+ c2 π3)2







+−−






π−
π−+π−

π+π−+π−
π+π+

== −
−

1k21

1k

3
3212

3212213
322221

3 ))cc(1(1
)b1()a1(

)ba()cc)(1(
)ba)(cc()kTPr(
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β2 = [(1- π2) (b1+b2) - (a1 π1 + c2 π3)] [(b1+b2)2(a1 π1 + c2 π3)2]
γ1 = (1- π3)3(c1+c2)3- (1- π3)2 (c1+c2)2 (a2 π2 + b2 π3) (c1+c2+1) 
 -(a2 π2 + b2 π3)3+(c1+c2) (a2 π2 + b2 π3)3+(1- π3) (c1+c2) (a2 π2+ b2 π3)2

γ2 = [(1- π3) (c1+c2) - (a2 π2 + b2 π3)] [(c1+c2)2 (a2 π2 + b2 π3)2]

�� ��4� "��:Waiting Time 
�����
 �� ��4� "��� ����� Wi(#� i=1,2,3 &��	� *�����4� O#����� "�� 

�� ��4�)&��'�� (��� "#�� (��
 ���#*��#  �4 ]2[

Pr (Wi =k ) = Pr ( J2 ≠ i,………..,Jk ≠ i, Jk+1 = i|J0=i,J1≠ i) …..   (18)  *�# �� 7�� ���1� $+,+�� �4���� "� 5%� �#����� �������
�:
(b1 π2+c1 π3 )  (1-b1) π2+ (1-c1) π3  k-1 

Pr(W1=k) =  ———————  ————————  …..  (19a) 
 (1- π1)  (1- π1) 

(a1 π1+c2 π3 )  (1-a1) π1+ (1-c2) π3  k-1 
Pr(W2=k) =  ———————  ————————    (19b)  (1- π2)  (1- π2) 

(a2 π1+b2 π2 )  (1-a2) π1+ (1-b2) π2 k-1 
Pr(W3=k) =  ———————   ————————— (19c) 
 (1- π3)  (1- π3) 

(#� k = 1,2,3,………. $��� 5%� �� ��4� "��� "#�
���� $�9����� $�#6�� "��:

π2 + π3 (π2 + π3 )2 - (b1 π2+c1 π3 ) (π2 + π3 )
E( W1)= ———— , V(W1) = —————————————(20a) 

b1 π2+c1 π3 (b1 π2+c1 π3 )2

π1 + π3 (π1+π3 )2-(a1 π1+c2 π3 ) (π1 + π3 )
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E( W2)= ———,V(W2) = ————————————   (20b) 
a1 π1+c2 π3 (a1 π1+c2 π3 )2

π1 + π2 (π1+π2 )2-(a2 π1+b2 π2 ) (π1 + π2 )
E( W3)= ——— , V(W3) =————————————    (20c) 

a2 π1+b2 π2 (a2 π1+b2 π2 )2

�*4.������ 1�
��� :
$+,+�� �� !����� "�%��� ����� "#
� *��� ����#
�� 7�� ���1� �6� ).��#� /0,1

 "#��� /�#�2��� (A�����
 $1����� "#��� 0,1 R�! ;�1�M� A�%���� ��'��� "�
1977 �1997 "#�#�T� "#�#K�	�� �������� :

1P6��� $�#6�� ������ $#���X� $�#6�� *� &��)5���% (�#Q� "�16��� �� &��#��� "��
 7�: )&��'�� ($ !��� 5% 7��� "�.

2P5�6��4� L�
�� �%) "�� 5�6��4� $#�� .
��� �������
�#�#K�	�� "#�#9 "#���� "ai,bi,ci$#�T� 5�6��4� $!�	1� 7�� ���1� 

:
 0.958           0.036         0.006     

P =  0.00258      0.9923        0.00512  0.01206      0.01439     0.97355  
�� 5�6��4� $!�	1�� �6����� O#����� "��:

π1 = 0.0928719 
π2 = 0.742403 
π3 = 0.1647243 

� ;�6
�� &��	� 5����4� $��% $��� "��$9,��� �������
 �����#: �� $��� 5%$#�4� :
)13a,13b,13c (

Pr (D1=k) =  (0.042)   (0.958) k-1 ; k=1,2,………. 
Pr (D2=k) =  (0.0077) (0.9923) k-1 ; k=1,2,…… 
Pr (D3=k) =  (0.02645) (0.97355) k-1 ;k=1,2,….. 

 



��������������� ������ �������	
��	��

 ������
 ...  ]93[

)�7��X� $����� ;�6
�� &��! "�  �,� ).��#� ("#������ *! ;�6
�� &��! "� �
%�
 "##��X�)�#�2���� "#��� 0,1 ($9,��� �������
� )14a,14b,14c (���#: ��

$��� 5%� ;�6
�� &��	� "#�
���� *
����� G����:
E ( D1 ) = 23.80958                              V( D1 ) = 543.0839    

 E ( D2 ) = 129.8701                              V( D2 ) = 16736.38 
E ( D3 ) = 37.80718                              V( D3 ) = 1391.576 

 "#��6��� "#
 "���� 5����4� $��% $��� "�� )"#���� ($9,��� �������
 "#�
9����
(16a,16b,16c) �� :

Pr (T1=k )=(0.0047898) [(0.9956976)k-1– (0.958)k-1] ; k=2,3,…     
 Pr(T2=k) =(-0.117688) [(0.9778118)k-1–(0.9923)k-1] ; k=2,3,…. 
 Pr(T3=k)= (0.0083416) [(0.994781)k-1–(0.97355)k-1] ; k=2,3,… 

 
$#��+�� $����� "#���� "#
 $#����� &��	�� "�  �,�)1"#��� 0, (&��	�� "� �
%� ��

 "##��X� "#������ $#����� )�#�2���� .��#� (
$9,��� �������
 "#�
9���� "#���� "#
 "���� "#�
���� O9���� "��

(17a,17b,17c,17d) �� :
E ( T1 ) = 235.60255                                V ( T1 ) = 54362.0408 

 E ( T2 ) = 4648.3507                                V ( T2 ) = 18723.4841 
 E ( T3 ) = 229.61284                                V ( T3 ) = 17857.7132 
 

$��� 5%� �� ��4� "��� 5����4� $��% $��� "��)$ !��� ($9,��� �������

(19a,19b,19c)  ��:

Pr (W1=k) =  (0.004301) (0.995698)k-1 ; k=1,2,…….     
Pr (W2=k) =  (0.022180) (0.977819)k-1    ; k=1,2,…. 
Pr (W3=k) =  (0.0052178) (0.9947812)k-1 ;k=1,2,…. 

 $#��+�� $����� *! �� ��4� "�� "�  �,� (#� )"#��� 0,1 ("� �
%� "�%#
 "##��X� "#������)� .��#��#�2��� (�� ��4� "��� *
����� G����� "#�
��� "��
 $9,��� �������
(20a,20b,20c) �� 

E ( W1 ) = 232.479                               V ( W1 ) = 53814.01844 
 E ( W2 ) = 45.083                                 V ( W2 ) = 1987.4291 
 E ( W3 ) = 191.650                               V ( W3 ) = 36538.0762 
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��������4�
)��X� ��
 $������ J)� 5,� "� �'#�: 51���� �� *��� ��������4� ��� "� ": 

$+,+�� �� !����� "#
 5�6��4� $#�� ��K��!� ���� ��
��4� � �
)L�
��� ��%) "��
5�6��4� (���� 8�)%� &��6��� $�#6�� ��)5����� (7��: �#�Q� "��16��� �� &��#��� "��

 "##��%���� "##E��1�>� 7��� ��������� *������ 7�� $ !��� 5% "� �� 7�: &��'��
 *����1977 �1997 *� ��������4� J)�� :
1P��+ �#�2���� $ !��� �'#�� �
%X� *� .��#� $ !���� ;�6
�� &��! $#������ ": 

�� 0,1 "#� "4 ��
%� *��%� ���6���
 O���� $ !����� J)� "� 7�� �QB� �)��
�#
% �'#! (�%��� "��.

2P"#��� 0,1 $ !��� *! "#�
9���� "#���� "#
 $#����� &��	�� $#������ ": 
"� �
%� *� "#���'��� "� 7�: �#Q# �)�� "##��X� "#� !����� $#����� &��	��

 )� 7�: $ !����� J! "�K6# .���: 7��: ��'����
� "#��� 5�G� $#��� &��
 "##��X� "#� !�����.

3P"�� ��
%� *�� "#���� 0,�1 $ !��� *! �� ��4� "�� $#������ ": 
"##��X� "#� !����� J)�� *�! "%����� �'#�K6# *��� $#����� &��	�� "� A�

�#
% �� &��'�� (��� "#�� $ !����� "##��X� "#� !����� $
����
 .
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